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1.   

	  .

	 1  5      .  6  10  

    .

	  > , < , =    .
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	                  
 .   
  .  
      
   .

2.  

        

 12,000  

 ()

 (..)

  

	    .

526

500 20 6

526

400 120 6

526

804

700 100 4

804 804

1327 1327 1327

 
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	  2011        .    
    .

. 
.

   ()  ()

1

2

3

4

5























































 


1,10,60,148

94,29,408

93,56,962

30,85,411

61,07,187

45,43,159

43,17,756

42,29,917

38,76,001

37,01,282

30,03,741

28,88,445

28,22,143

27,72,348

26,34,200

25,86,258

25,85,049

24,54,196

20,50,862

18,36,086

18,13,906

16,57,576

16,48,295

16,15,069

13,00,774

11,97,160

11,77,345

33,61,292

19,59,046

( 1 > 2014        
 .)

8,49,651









 13,22,507
46,53,570

22,04,307

12,00,334

10,72,942
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	      .

......................................................................................

......................................................................................

......................................................................................

......................................................................................

......................................................................................

	 -19            .  
   .

 . 1 2 3 4 5 6

    74,369 97,372 65,707 82,918 73,314 53,423

1.	         .

	 ...........................................................................................................

2.	         .

	  	 ..........................................................................................................
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2 6 7 2 3 0 5 8

 .  .    

       

	  .

                 .



 

 



 

 

	 -

	   ,  . 

 ()










50,724 km

4,878 km

SUN

12,104 km


6,780 km 

139,122 km


49,248 km

116,464 km


12,756 km

.............................

.............................

.............................

.............................

.............................

.............................

.............................

.............................
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 - ( )

	 7,67,916  >  3,62,412	 3,24,314  <  7,70,325  	             
	   > , <    .

	 1)	 14,12,740              16,19,402	 2) 71,04,405               26,58,166     3)	 95,916              98,653

	 4)	 45,20,176                45,89,402	 5) 4,44,231               17,02,16    6) 7,88,354               7,89,354

	   .
	 1)	        6,45,395   

,      7,67,075   . 
      ?

		  .................................................................................

	 2)	 ‘       ` 7,36,216 . ‘’  
   ̀  9,16,887. ‘’    ̀  14,96,063 , 
     .

		  ...........................		  ...........................	 ...........................

	 3)	      ̀  2,32,372,  ̀  
3,16,917,   ̀  2,45,123  .  
      ?

		  ............................................................

		  ............................................................	

	  .

2000  
 

100  
 

10   


 
  

  
()

  
()

12 14 5 24000 +1400 + 50 25,450      

24 23 0

17 15 2

28 2 6

  

1) 
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2)

	



 





 


 





 




. 
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
 `

 2
00

0 


 1
9 




, `
 2

00
 

 
25

 


, `
 1

00
 

 
22

 


, `
 1

0 


 4
0 




 



. 




 


 
 





 




 



.









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 ..

...
...

...
...

...
...
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...

...


 -
 


 




 



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3.    

      

1 4 2 9 5 0

0 9 9 0

 7 9 0 9 0 7

      $

9 3 7 5 1

6 4 3 5 2

1 9 9 7

+  +  

+  

+  

+  

+  

+  

	 .

  $ 

5 7 2 4

2 1 8 5

      

6 7 4 1 5 0

4 5 7 4

4 3 7 0 7
  

	   .
		  1)	 1,40,124 + 258 + 4,589	 		  2)  17,405 + 2,478 + 48,045	   


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		  3)  79 + 458 + 10,215			   	 4)   47,789 + 1,020 + 356	

  		  5)  33,126 + 450 + 40,400			   6)   9,999 + 9,090 + 90,009	

	 .

	 1)	 9,54,728 + 100 = 				    2)  1,51,515 + 0 = 

	 3)	 8,67,342 + 1,000 = 				    4)  4,65,000 +                   = 4,75,000 

	 5)	 300 + 800 = 					     6)  8,500 + 4,500 =

	 7)	 2,070 + 1,030 = 				    8)  8,750 + 5,750 =

	   9)   54,321 + 12,345 =			            10)  7,777 +                                = 8,888 

	11)	 1,67,579 + 3,54,564  =  3,54,564 +	          
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 : 

.	    ` 3,48,980 .   ` 1,48,967  ,   
    ?

	      = 3,48,980

	      = 1,48,967

	    = 3,48,980 + 1,48,967 =                    	 . .

	 .

	 1)	       
   ?

	 4)	      

-  ` 5,24,860,  

 `  65 ,459 
  
     

`  3 8 , 7 4 0 
 ,   

    .

	 3)	      8,24,750 
   .   
 12,35,847    
,      
   ?

	 2)	   ̀  5,38,937  

  ̀  2,95,870  ,  
   ?

3 4 8 9 8 0

1 4 8 9 6 7+
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

  		           . 8,73,803 - 96,591  =  ?	     . 8,56,721 - 3,28,830 =  ?

	.
		  1)  91,47,508 - 58,65,917  	 2)  8,56,760 - 5,23,843

		  3)  47,91,508 - 8,88,988	 4)  31,82,912 - 2,28,038

      

8 5 6 7 2 1

3 2 8 8 3 0

      

16

7 6 13 7 10

8 7 3 8 0 3

 9 6 5 9 1

7 7 7 2 1 2

-

-
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A B C D

	        .

		  . :  42,979 - 32,979  =  ?

       		  A) 10,000	 B) 1,000	 C) 0	 D) 100 

			     1)     59,999 - 0  = ? 

				    A) 59,990	 B) 59,000    	 C) 0         D) 59,999

			   2)	  ,     ?
				   A) 1,00,000       B) 50,000     C) 0		 D) 9,50,000

			   3)	  4     4     ?

				   A) 9,999      	 B) 1,000           C) 8,999           D) 0

			   4) 	         ?

				   A)  	     B) 1   	       C) 0     	   D)     .

			   5)	  4999   10000    ?

				    A) 4,999 	 B) 5,110  	 C) 5,999  	 D) 5,001

 : 

.	   ` 29,830    ` 17,250  ,  
       	
  ?

	                               . 

	 			            . 

       .

			                `                    .

     

7 13

2 9 8 3 0

1 7 2 5 0

A B C D

A B C D

A B C D

A B C D

A B C D

 

- 
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	 .

	 1)	       
   ?

	 2)	   96,386 ,  30,237 
 , 28,170  ,  
  ,    ?

	 3)	       
`20,00,000   . 
   ` 31,12,540  
 ,     
     ?

	 4)	   3,50,254     
,  1,64,258    
      

 .   
     
  ?

	 5)	     56,850  
 .   63,868 
  ,    
     ?

	 6)	      
6,76,847    .  
. 4,98,592    
,     ?
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	 7)	      
8,56,000    .  
11,43,801  ,    
?

	 8)	  ̀  7,28,405    
 .  ̀  2,40,750 . 
      
,    ?

    7431
- 1347
	    6084

    6084
+ 4806
	  10,890

 
 1  9    4  . (   ) . 3, 7, 4, 1

        . . 7431

	 	       . . 1347

	 	      .

	 	      . 4806 		

	 	         . 
		

  		   4     .   .  
 ?   .
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        

7 8 3 7 2 1

3 5 8

8 2 4 8 0 3

	 1)	 ,      
 .   
 `35,98,205   
.   `9,40,835  
 `11,30,856  ,   
 ?

	 2)	      
9,48,756 ,  7,63,552 
 .   
8,18,193  ,   
  ?

	     .

	1)		   2)

	3)		   4)

 

	   .

        

1 9 8 7 5

5 9 4 8

1 8 9 0 4

+ +

        

8 6 7 5

9 5 8 6 8

3 3 8 5 2

_

        

6 3 8 4 5

4 8 5 7 8 0

4 1 0 7 8

_
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	 3)	     ̀  3,28,756 
   ` 33,654  
.       
 ` 1,95,885 ,   
    ?

	 4)	  78,85,318    
30,91,526    
.  90,00,00   
 ,    
   ?



	   1  9 
 ,    
             
17  . (   
)

	  1  9  
,  900  
. (   )   

 9       0       0
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4. ,   

	  .

  :  75 × 41		  			   1)  225 × 25	

		 2)  793 × 42		  3)  604 × 28

   

+

×

    

+

×



   

+

×

75
41×

+ 75
3000
3075

(75 × 1)
(75 × 40)

, 
 



75  41  
  

2  

41  40 + 1 
  75  

1 , 
75  40  
 
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		               4)  609 × 214		  5)  445 × 891

	 .
		 1) 654 × 21	 2) 270 × 14	 3) 109 × 279

	   ,      .

		 A)   122 × 141             B)   270 × 14	 C)     153 × 150

     

×

+

     

×

+
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		 D)   225 × 2             E)   197 × 15	  F)   56 × 36

A

B

C

E

F

D

 

  :

		      48,109 ,   13   ?

		   : 

		     = .............                                                

		     ? .............

		   

		  13   = 48,109 × 13	

		  , 13    =  ..........  .


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	 
	 1)	     950 .. ,   6   
		  ?

		   : 

		         : ......                                                

		    : ...................... 

		  6    : .... ×.....

		  , 6    : ......... ..

 	 2)	 5   ?	

		   :

	 	 1  : ............. 

		    :  ...................... 

		  5  : .......... × ........ 

		  , ........................................ 

	 3)	    23   ?
		    : 

		      : .............                                                

		    : ............. 

		    : ...................... 

		  .............  23  = 

		  , ...............................................

	 4)	     525  , 250    ?

		   : 

		      : .............                                                

		     : ............. 

		    :  ...................... 

		  250    : 

		  , ...............................................	
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 : 

	 .

	 1)	     275  
  42   , 
    ?

	 2)	       
,     
   ?  

  
?

	 3)	    790   
.     395 

 ,     
     
 ?

	 4)	       
  126 ,  45,789 
 ,      
  ?


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

  :  
		  659 ÷ 3 = ?	      52,013 ÷ 13 = ?

		  659    
		  (,    )
		   .

	 .
	 1) 6,795 ÷ 5	 2) 4,205 ÷ 8	 3) 2,486 ÷ 12        

2 1 9
6 5 9

_ 6
0 5

_ 3
2 9
2 7
0 2

_

3



5  2  0  1  3
_
_

0

0  0  0

5  2

_

_

_

0

13

5  2

1

1 3
1 3
0 0

0      0  0  
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	  	 4)  78,925 ÷ 25        	  5)  4,586 ÷ 12 

 			   6)  1,089 ÷ 17 	          7) 1,24,578 ÷ 20	 	 	
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 : 

                    : 
	 	   40 ..    .   480 ..   

 ?

		   : 

		   		          =                                                   

            	        =       

         	     =  

		  ∴     = 12 

	 :

	 1)	       2260   .    
20   ,    20    ?

	 	 :

		  ........................................                                                 

		  ........................................ 

		  ........................................ 

		  .....................................................

	 2)	    9130 ,   22    ?

		  :

		  ........................................                                                 

		  ........................................ 

		  ........................................ 

		  .....................................................

0 1 2

4 8
_ 0

4 8
_

0 8
8 0
0 0

_

40 0

4 0
0

0



40 ..

480 ..
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	 3)	   12  ,  48600 ?

		  :

		  ........................................                                                 

		  ........................................ 

		  ........................................ 

		  .....................................................

	 4)	     2000 .         2   

    ?

		   :

		  ........................................                                                 

		  ........................................ 

		  ........................................ 

		  .....................................................

	 5)	   7040  .     .    20  
,    ?

		  :

		  ........................................                                                 

		  ........................................ 

		  ........................................ 

		  .....................................................
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	  .

	 1)	 5,125 ÷ 1 =     ............

	 2)	 425 ÷ 425 =   ............

	 3)	 980  ÷ 98 =     ............

	 4)	 1,248 ÷12 =    ............

	 5)	 767 ÷12     =  .......,   =  ......

	     4,768     0 ,    .

	 .

		  1) 1,017 × 14 	 2) 4,08,060 ÷ 20 	 3) 6,710 × 57 

12 16 20 

8 14 32

   .
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  :
	 	12,500  25  , 86   ?

		  25  12,500  ,    = 12,500 ÷ 25  

		      = .......... 

		   86   .

		  86   = 500 × 86 

      = .......................... 

		   86   43,000  .

	 .
	 1)	 7     462  ;        ?

..................................................

..................................................

..................................................

..................................................

..................................................

..................................................

	 2)	    3,600 ,  3   ?

..................................................

..................................................

..................................................

..................................................

..................................................

..................................................

12,50025 500
×  86
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	 3)	 2,500  33   ?

..................................................

..................................................

..................................................

..................................................

..................................................

..................................................

	      .



: 2000   

	 1)	      5   
  ?

	 2)	 10   12 , 5   24 
  2   48   
 ,     ?

5 10 
2 
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5.  

	  ,  .

  

 1







	 .

      

0 1
1
2

1
4

3
4

1
2

0 11
4

0 13
4

1
4

3
4

1
2

2
6

0 1
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	       .

	   
1
2

   .

   .

	 1)	   12  .

 		     
1
4     .

		       .

		     
3
12    .

		       .

		         .

		  ,      .

		      ?  .

		  ......................................................... 

		  .........................................................       

  =

2
4

1
4

5
8

2
3

3
5
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	       .

	    .

		  , 1. 
2
4

 = 
6
12

		 2	. 
3
4

 = 
9
12

			 3.  =  

	         ,    .

		             .

	     ,  			    ...............  .

=

10

0
2
4

3
4

4
4

0 1
12

2
12

4
12

5
12

6
12

7
12

8
12

9
12

10
12

11
12

12
12

= =
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 	   .

	 1)

						    

      .

	 2)

	  

        .

	 3)	    .

		  1) 			   2) 	 3)	

		  4) 			   5)	 6)	

	 4)	     .

			 
9
24 	

36
48 	

12
16 	

10
40 	

9
72

= = 189 × 2
7
9 = = 328 × 4

3
8

= =
162 × 82

5

= =
255 × 55

11 = =
60 ÷ 10

3
660 = = 1

3

0 11
8

2
8

3
8

4
8

5
8

6
8

7
8

==
4
16

4 ÷ 2
16 ÷ 2 8 =

	       ÷ 2
8 ÷ 2 4

=

= =      × 2
    × 2

2
8 =1 × 2

4 × 2
1
4 =
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	 5)	  6   .

		  1) 
15
30

 =			      2)	  14
42

 = 

		  3) 
32
48

 =			      4)	  
33
66 =

	 6)	  24    .

		  1) 1
2

 =			      2)  2
3

 = 

		  3) 
4
6  =			      4)  7

8
 =

	 7)	  .

		  1)	
2
5

 =    =    =    =  		 2)  
3
4

  =    =    =    =  	

		  3)	
7
9

 =    =    =    =  		 4)	 5
8

 =    =    =    =  

	 8)	 .

		  1
3

 ,  1
6

 ,  8
10

 ,  18
29

 ,  5
4

 ,  3
10

 ,  9
7

 ,  11
9

 ,  3
4

 ,  1
2

 ,  7
4

 ,  13
29





	    < , >  =    .

  	 1)  
7
9

  
5
9  			        2)  

4
11

  
6
11

  	

	 3)	
3
8

  3
13

			        4)  
5
12

  5
7

	

=15 ÷ 5
30 ÷ 5

3
6
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	   ,       < , >   =    
.

	  
3
8

  3
4

    .  8 > 4 .   ? 
 .

........................................................................................................

........................................................................................................

	 .	   

		  1)	
2
3

 d 
3
7  	 2) 
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 d 
3
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	 3)  
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0

0

0
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1
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1
6

2
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5
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6
6

1)  1
5

  2
3
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4)  5
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5)  4
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6)  1
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	       .

	.

1 $ 

1 $ 

	 3)	 .

			   i)	 +2
9

1
9

 = ..............	 ii)   +4
13

8
13

 = ..............	 iii)  +7
6

5
6

 = ..............

			   iv) 	 +3
8

4
8

 = ..............	 v)  +9
17

7
17

 = ..............       vi)                    = .............. 

1)

2) =+ ?
2
7

3
7

=+ ?
2
5

1
5

2
5

1
5

> 15 10
1)

< 7 8
2)

+6
21

5
21



   :  -  : 36

	   . 

	 1)	    
2
8

   

		
3
8

   ,   

		      ?

	 2)	    1
5

   
 

2
5

     
   ?

	 .

1 $ 

1 $ 

=– ?
4
5

2
5

=– ?
6
7

3
7

2)

1)
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	 3)	   
5
6

   ,    3
6

        
  ?

	 4)	    3
5

      1
5

    , 
        ?

	 5)	 1        .

		

		   

	 6)	 , ?  .

			   i)	 =+1
5

2
5

3
10

  			 

			   ii)  =+1
5

2
5

3
5

			 

			  iii)  =–3
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2
5

1
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....................................................................................

...................................................................................
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	 .

	 1)		  =+ ?
1
8

1
4 	 2)	

	 3)				    4)	 3, 4, 5, 6    
   
.    
  .

	 5)	        .
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	  . 

	 1)		    			   2)  	

	 3)					     4)  		
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	  : 

	 1)	    .  
,     

1
8  

 ,     
  ?

2)	  
3
4   .  

  .  
 

1
2    ,   

    ?

– = 1
8

	 3)	     .  
5
12   .  

1
4   . 

   .      ?

	 4)	    .        
1
3     

.       
2
9    .    

  ?      .

  1
3

2
9

– =     .
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	    ,   .

	 1)	  16  .    ,    ?

	 2)	       ,      ?

	 3)	   2000   .     ,    
?

	 4)	       20   . 
 15         ?

	 5)	     60       
120   ,        
   ?

	 6)	  1  500 ..  .    80 
,     ?

	 7) 	> 3   .      , 
    ?

	  4  3   .      . 
	 1  

		     3   .  1
3     ++ +( )    

		 .  1      1 +( )   4
3     .

		     ?   .

    2  .

1
3

1
3

1
3

1
3

1
3
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	 ,  .

	 1)	  ,  .

	 2)	      .

	 3)	      .

	   ,     ,     .
		     ,      ,     

  ,   .

	     .

...... 

10  

...... 

6   5  20   
 

15  
...... 

2
4

6
4

1
4

2

18

4
_+
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	   .

. .    1
2   	  3

4       2
3  

1 1  

2 96 

3 60 

4 60 

5 72 

	    . 

	 1)	  48 .     .     
    ,    ? 

		  1)  24			  2)  12			   3)  6			   4)  8

	 2)	    
2
7     , 3

7      , 
     ,   ` 49,000    
   ?

		  1)  ` 35,000		  2)  ` 14,000		  3)  ` 21,000		  4)  ` 24,500

	 3)	   
3
5    ,   24   ,    

 ? 

		  1)  120		  2)  72			   3)  192			  4)  60

	 4)	     
1
6    ,      

?

		  1)  18			  2)  3			   3)  15			   4)  12

   

×12 = 9 3
4

×96 = 48 .
1
2

40 

36 
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	     ,         
 .

	    .

	       , ,    . 

6.  

1  

2  

3  

1  

2  

3  

2)  3) 1) 

A

B C

P
R

Q S

T U

 

  .....................
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	   ,  .

	 1)	  ................  ................    .

	 2)	   B    ,    ............ 
 .

	 3)	      ,  ,   ................  
.

	 4)	     ....................  ....................    .

	  .

 


  


  


 ∠ACB 


 ∠BCA

C  CA

  
 CB

............... ............... ...............

............... ............... ...............

............... ............... ...............

	    .

B

HA

A

B C

C G

D E F
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	   400        .

	     .

	  					     ∠ PRT   =  ...........................

	  					     ∠ SUV   = ...........................

	  					     ∠ PQR   = ...........................

	  					     ∠ TVU   = ...........................

	     .

1) 55o 2) 100o

3) 110o 4) 70o

A A

CB C B

P

S

U V

TQ R
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	     ,   .

  - B

 BA,  BC

 = 60o 

∠ABC

  - Q 

 QR,  QP 

 = 90o 

  - T

 TR,  TS

 = 130o 

	   .

	              .

     

     

A

60o

B C
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	    .

	 1)	    ............... .

	 2)	     ............... .

	 3)	       ............... .

	 1)	   ............... .

	 2)	     ............... .


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	  ,     .



  OA





	 'P'   ,      .

  P







	       .

7.  

A O

D

EC

P
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	      L    2 ..  3 ..  
      .

	   L            .

 2 .. 3 ..



  ,        .

  = ............. ×            =  ÷  .............	

	   .

 9  11   10  

 12  16  6  

	  O   ,      .

							          = ............................. 

							         = .............................           

     			                             = .................................

LL

E

X

A

GD P

Q

O

B

Z
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	     .

	 1)	 T   3     .

	 2)	   V, F, K, H  .

	 3)	   L, M, N, O  .

	 4)	  C  S  .

	           .

   (..)



 







	   .

..         

1)  PQR  RSP
Q

P

S

R
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..         

2) ..................... .....................

3) ..................... .....................

4) ..................... .....................

	    .

..     

1) ...............  ABC   ADC

2)  B  D .............................



B

O

D

CA

X

Y
L

Z

W

L

M

N

K

O

D

A

B

C
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8.    

	  .

		  1)       100                 2)            42 	 3)       88

	    . (10,  22,  34,  46,  18,  20,  25,  15,  5,  42,  64)

2    5    10   

     .

    ........... 
   ,   
2  .   
 2  .

    ........... 
   ,  
 5    
.    5 
 .

    ........... 
  ,   10  
  . 
   10  
.

	  2 , 5   10   ,  ,  .

2

55

252

50 2

3

2

2

18

2

5

10

    8 .

 .   0  5 .

 .   0 .

.
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	   .	 	       
.

	      .

21 	 20 	 24 	 84 	 28 72 18 40 80 48

	 1)  4  5    :		

	 2)  3  7    :	

	 3)  6  8    :

45

2

5

10

................... ............................................

................... ............................................

................... ............................................

20

2

5

10

................... ............................................

................... ............................................

................... ............................................

 

20 1, 2, 4, 5, 10, 20

15

50

26

18

22

 

15 30, 45, 60, 90

22

32

17

10
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   
	   . 

 15 19 31

  1, 3, 5, 15 1, 2, 4, 8 1, 2, 3, 4, 6, 8, 12, 24

  ×

   

	            .

..    



1)    ? ........  - 

2) ? ...... 

3)    ? ........

4)     ? ........

5)      ? ........

	  .

	 	     .

	 	    .

	 	    .

	 	  ,  .

	 	    .

	 	       .
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	     ,    .
		  (13,  21,  18,  17,  85,  32,  43,  56,  72,  77,  37,  83,  75,  46,  97)

	       ,  .

			   . 20  18	 . 15  8

			   20   1,  2,  4,  5,  10,  20.	 15  : ..............................

			   18  : .............................	 8   : ..............................

			     : 1, 2	   : .............................	

			        .	 .........   .	

         	∴ 20   18      .	 ∴ 15   8     

			   . 16  25	 . 24  40

			   16   : ................................	 24   : ................................

			   25   : ................................	 40   : ................................

			     : .....................................	   : .....................................

			   .........     .	 .........     .

         ∴ 16   25   ............... 	 ∴ 24   40   ...............



 
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9.   

	    .

	   0.7   .

	   .

  
 

    

142.53 1 × 100

   = 100

4 × 10

  = 40

2 × 1

= 2 = 0.5 = 0.03
20.19

5.3

0.8

  = 
13
100 = 0.13

  = = 

   = = 

   = = 

1
105 × 1

1003 ×
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	       .

1             	       

  

2.34

  

1
10 = 1  = 1

100 = 1  =

  

  
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  ..................
  .

	   .
	 i)	             , 

   ,       ?

   

	 ii)	    1.78 .,    2.29 .  ,      
 ?

	    .

   
............. .

12
1 = 12

12
10 = 

12
= 0.12 

1000 = 0.012 

12 = 0.0012 

1
10 = 0.1

1
100 = 

1
1000 = 0.001 

1
10000 =  
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	    .	 	    .

	    .

			   100  =   1.00 	 100  = 1.00 

			  75   =   ................ 	 50  = ................  =   

			  50   =    0.5 	 25  = 0.25  = ............ 

			  25   =  ................ 	 .......  = ............  =   

	   .

		  	 	 			   0.75

		  1	 			   7.5

		  2 	 			   0.5

		  	 			   1.25

		   7	 			   2.5				  



1.2
100.12 = 

= 

0.02 = 

45
10

8.192 = 
8192

= 8  

1
2

3
4

 	  0.5

 0.25

0.75

  1

1
2

1
4

1
2

3
4

1
2
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	 .

            

	 1)	       ?  ..........

	 2)	           
		  .  ?  ................

	 3)	  60     
		  ,  ? .............

	        .

	 1)	  		  ................................

	 2)	       		  ................................

	 3)	     		  ................................

	 4)	   		  ................................

	       .

                                         

10.   






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	      .

               

	       .

	

                 

           	  	  

	       .

                  

              	           

	   .
	 1)	      8.00        , 

     ?
			         :      

			       :       

			          :       

5  10  12  30  9  45 

12  20  10 

3  20  25  12  40  30  9  10  50 

+



   :  -  : 63

	 2)	         11 .00 
 ,    
?

	 4)	   9:00   1:30  
  ,  , 
     
.

	 3)	     11:45  
  13:30   , 
     
  ?

	 5)	      
10:30    
 ,   
  ?

	          .

	 1)           
.
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 2 


?

 5   
 7   

 

	 2)          .

	 3)     ,     . 
		

                           

                               

	          .

	 .	   11.00   ,  5.00   .

   	   11.00   ,   5.00  .

	 1)	   5.00   ,  1.00   .

		  ........................................................................................................

	 2)	   6.00   .  8  30   .

			  .......................................................................................................

	     , .	

         ?  ..........................

5  
7    . 

 .
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	    12   24     .

 

12     .....................

24     .....................

 

12     .....................

24     .....................

	 12   24   .

	 12 : 45 pm			 

	 01 : 15 pm			 

	 05 : 05 am

	 04 : 25 pm			 

	 07 : 35 am	 		

	 24   12   .

	 13 : 45 

	 23 : 10

	 05 : 15 

	 17 : 25

	 03 : 00	

12.45

1.45 pm 
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	 12    24   .

	 1)	   6  25  -         

	 2)	   9  40  -                                   

	 3)	   3  50  -

	 4)	   10  35  -

	 5)	   8  05  -

	 12   24       .

	     12   					    24   

 
10.40


3.25

7.10

15.25
22.40

23.45

18.30
 

11.45
7.10

6.30
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	 1)	  3  25    . 1  30    
,      ?

	 2)	   9:30   2:00   ,   3:00  4:30  
   ,      ?

	 3)	   5  30      1  45    , 
       ?

	 

	   .
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11.   

	   .

	 1)	 42 .. 425 . + 28 .. 745 .	 2)	 82 .. 856 . – 29 .. 632 .	

	 3)	 58 .. 300 . + 47 .. 658 .	 4) 	48 .. 533 . – 26 .. 378 .

	 5)	 89 . 107 .. + 52 . 811 ..	 6)	 99 . 642 .. – 52 . 607 ..	

. .. . ..

.. J«° .. J«°

.. .	.. .
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	 7)	 28  40  + 67  90 	 8)	 78  90  – 67  15 

	   .

   

	 1)	  42 .. 400 .   
, 87 .. 300 .   
 ,    
 .

	 2)	   55 .. 400  
   ,  
  ,    
 ?

	 3)	    109  300  
  . 250    
   , 
     ?

	 4)	     
69  700   , 
 77  300   
,     
 ?
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	 5)	    123  600 
 208  300 ..   
,     
  ? 

	 6)	     500   
800 .. , 700  200 
..  ,   
?

	 7)	    719  80 
 ,    999 
 ,    
   ?

	 8)	  548  75   
,  400  75  
 ,     
 ?

	 9)	       483 
..  .  219 .. 100 
   . 
     
   ?

	 10)	    20 .. 200 .  
 .  18 .. 700 .  
  .    
    ?



   :  -  : 71

	 11)	   568  300  
.  199  700  
     
?

	 12)	   247  900  
  .  101 
 250     
     ?

	 13)	       450 
 50   .  
 .   248  
    ,   
   ?

	 14)	     723  50 
.   549  . 
     
 ?
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	 15)	       
 15  100 ..  
.  13   
     ?

	 16)	     2 . 50 
..  .  
3     
?

	 17)	     2 .  
50 ..  ,  5  
    ?

	 18)	   20    
.     
 ,     
?

	 19)	      30  
.   15 . 500 
..      
.    
  ?

	 20)	        
  45  . 25 
     
  ?
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	 21)	   70   
,  10   
    ?

 	 22)	 5 . 55 ..  5   
     ?

	 23)	 9 ..      
 10    2 
    ?

  	24)	 10 . 50 ..   
25 ..     
?

  	25)	 760 ..  8   
 ,    
 ..  ?

 	 26)	 50      2 
.. 500     
  ?



   :  -  : 74

 	 27)	    30  
  2  500  
  ,   
 ?

	 28)	   ,   
   .

	 29)	     760 
 .   20  , 
  ?

	 30)	      
      
,    ?

	 31)	 3 . 600 ..    
 ,    .. 
 ?

	 32)	     1000 
  . 4   
   ,   
 ?
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	    ?

       2 .. 500 . 

       3 .. 725 .

        , .

	    .

	 1)	 1000  	 =   

	 2)	 1000   =  

	 3)	 1000  	 =   



     

1 

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12.   

	      .   .. .

3 3

7

7

 ....... ..

8 8

8

8

 ....... ..  ....... ..

7

6

4
5

 ....... ..

5 5

55

5

9

9

9

9

9

9

 ....... ..  ....... ..

	   .

	 1)	    10 .., 20 .., 15 
.., 28 ..  9 .. , 
    ?

	 2)	       
 4  .    
280 ,  100  , 
      
?

5

5

5



   :  -  : 77

	        .

											        

	 			   	 	

		  .

	 1)	       80 ., 
 25 . .    
     ?

	 2)	    30   
    5  
,      
  ?

	    . (   1 .. .)

  = ..............

 ....... ..

 ....... ..

 ....... ..
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	 

	     .

	 1)	 A    1 ..  .

		  1 ..    5 .

		  1 ..    3 .

		   5 × 3 = 15

		  1 ..  15    .

		    A  15 ...

	 2)	 B    1 ..  .

		  1 ..   ........... .

		  1 ..   ........... .

		   ........ × ........ = ........

		  1 ..  .............  
		   .

   		   B  ............. ...

	   .

 A

 B

	 1)	     75 
,  45  ,   
   
?

	 2)	 5      
    45  
   ?
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	 3)	     100 ,  60  .   1   
   3000 ,      ?

	     .



	   .

	 2)	     80 , 
 40  .     
     
100 ,    
?

	 1)	        
60  .     
  950    
  ?

	

								      

 .......... ...

 .......... ...

 .......... ...
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	 3)	      , 
   .

		  1)  18  ..      	 2)  22  ..

	 4)	    
  5  
,    
 .

	  .

..    

1 7 .. 3 .. 

2 12 . 8 .

3 34 .. 10 .. 

4 24 .. 9 .. 

5 120 .. 2 .. 

	  . 
	 (  900  ,       .)


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	      ,     ,  
 ................... ( / )  .

	   ,  .

	 , , ,   , , .

   

	    .   ,    .   
    .

13. g‘OyZ KoD$¶m {Ì{‘Vr¶ dñVy d KS>Ur

  

...............................................

...............................................

...............................................

...............................................
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	   .    .   .   
,   .

      1)

	

	     

     2)

	



 

 

  



 

 
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	   ,  ,        
     .

	

	  ,   .

        

2)1)

3)



 



 

4)


 



 

	 1)	   ,   
,    , 
  ,    
   . 
?

(///) 

	.....................................

	 2)	   ,   
 ,     
     
   . 
? 

(///) 

.....................................
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	      ,     .

	       -

		  1)  A      ?

		  2)  C      ?

	       ,      .

 

							     

	 	 	 	 	 	 	 	 	 

A

B C D E

F
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	      . 

         :         = 50 

       

 

 

 

 

	 1)	      ? 

	 2)	   ,     ?

	 3)	   ,     ?

	        .    .

	 1 2 3 4 5

     

 25 40 35 30 10

	 ( : 1 ......   =  ......  )

.   

1 

2 

3 

4 

5 

14.  
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	            .  
  .

	 1 2 3 4 5 6

  
 

      

 81 45 27 72 18 63

	 ( :  1 ...... = ......   )

    







 





	            .   
     .

	 1 2 3 4

  -  

  20 24 36 32

	 ( :  1 ...... = ...... ) 

  



-





 
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15.  

		  ,    .

		  1	 4	      9	 25

		     .

1 11 21 31 41 51 61 71 81 91

2 12 22 32 42 52 62 72 82 92

3 13 23 33 43 53 63 73 83 93

4 14 24 34 44 54 64 74 84 94 

5 15 25 35 45 55 65 75 85 95

6 16 26 36 46 56 66 76 86 96

7 17 27 37 47 57 67 77 87 97

8 18 28 38 48 58 68 78 88 98

9 19 29 39 49 59 69 79 89 99

10 20 30 40 50 60 70 80 90 100

		    .

     

1 + 3 = 4

1 + 3 + 5 =

1 + 3 + 5 +7 =	

1 + 3 + 5 + 7 +  9 =

1 + 3 + 5 + 7 + 9 + 11 =

		    
?
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	   .	 	  .
	 1×1 = 1

	 11×11 = 121

	 111×111 = 12321

	 1111 × 1111 =  ......................... 

	 11111 × 11111 = .........................	

 

		         .

	 1 + 2 = 3	 1 + 2 + 3 = 6	 1 + 2 + 3 + 4 = 10

	 a) 1 + 2 =     3	

	 b) 1 + 2 + 3 =

	 c) 1 + 2 + 3 + 4 =	

	 d) 1 + 2 + 3 + 4 + 5 =

	 e) 1 + 2 + 3 + 4 + 5 + 6 =	

	 f) 1 + 2 + 3 + 4 + 5 + 6 + 7 =

	 1)	 J{UV noQ>rVrb J{UV Omirda 1 Vo 100 
n¶ªVÀ¶m Mm¡ag g§»¶m XmId.

	 2)	 ^m¡{‘{VH$ nmQ>rda 1 Vo 100 n¶ªVÀ¶m 
Mm¡ag g§»¶m a~a bmdyZ XmId.
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	 .

	     .

	  1  9          .
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16.   

		    .

		 = ,  ≠     .

		  1)	 10 + 3   =   8 + 5 			   2) 10 ¯ 3   ≠   5 ¯ 3 

		  3)	 7 × 8         28 × 2	 		  4) 12 + 4         12 × 4

		 >, <    .

		  1)	 12 × 7         28 × 2 			   2) 22 + 3          5 × 2 

		  3)	 7 × 8         28 × 1	 		  4) 12 × 0         12 + 0

		     ,  ,    .

		  1)	    .  20    ,    
  ? (  m  )

			  u	m ¯ 20    ......................................................................................................................  

		  2)	    6          
? ( a    )

			  u	 a ¯ 6    .........................................................................................................................  

40 + 5

45  9 × ...............

55 ¯ ....

12 × 3

.... ÷ 2  9 × ....

40 ¯ ....

............
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		  3)	  2      .     ? 
( b  )

			  u	 b ¯ 2   ...........................................................................................................................  

		  4)	    10       ? (  
x )

			  u	 10 ¯ x ...........................................................................................................................  

		      .

5 × 2 20 ÷ ..... 4 + 5 ..... ¯ 1

............. 23 ¯ 5 7 + 5 ..... + 4

3 × 4 2 × ..... .... + .... 2 × ..... 
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		 .

		  	

		

		

		

		 .
		



= 300 +

= 550 +

= 450 +

+ =                

6

 8

 4

 10

?

?

?

?
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		     ,  .
	1) 16   	  2) 18    
	3)  9    
4) 20   16     
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		      () .
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